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Pre-Calculus 11
Lesson 5.1 ~ Working With Radicals

index — radicand
radical

A mixed radical is made up of a coefficient and a radical (for example: 4v2).
An entire radical does not have a coefficient in front of the radical (for example:

Y17).

Multiplication Property of Radicals
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@@ Oé@ Method 1 (prime factorization) Method 2 (perfect squares)
V80 =+v2-2-2-2-5 V80 = V165
() =VvZ-2-V2-2-V5 =165
=2-2-5 =45
= 4+/5
Example #1: Simplify each radical. .
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Rewriting Radicals (mixed radical — entire radical)
W3=V77-3
=147

Example#2: Rewrite each mixed radical as an entire radical.

a) 4v3 b) j3\Jj c) 2k?(V4k)
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Example #3: Order the following number from least to greatest.

5,3v3,2v6,V23

5=c Jig Least 4o C—srea“"es‘g‘i
33 =J27 TJE,ZJG,S,BJ?
255 = o
Jzz = J23

Example #4: Simplify radicals and combine like terms.
a) 2V7 +13V7

=‘\5J"TI

b) V24-v6 = 2J6 - J&
= Ve |
c) VI0x - WKk 20
| = 2d5x - 5%
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